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The SC said, “Postings within the state cadre as well as joint cadre of a consitituent
state shall be made by the ‘government of that state’, that is, by the duly elected government.
In our case, it shall be the government of NCTD. We, accordingly, hold that references to
‘state government' in relevant rules of All India Services or joint cadre services, of which
NCTD is a part or which are in relation to NCTD, shall mean the government of NCTD.”

CJI Chandrachud said this case dealt with the asymmetric federal model of governance
in India involving the contest of power between a Union Territory and the Union government.
The issue was who would have control over ‘services’ in NCTD a government of the NCTD or
the LG acting on behalf of the Union government a question which arose subsequent to a May
21, 2015, notification by the Union ministry of home affairs that gave the upper hand to the
centre on ‘services' in relation to the government of NCTD.

While ruling that Delhi government had legislative and executive power over services
except on land, police and public order. the bench, importantly, said GNCTD being one of its
kind (“sui generis”) Union Territory, parliament would have overriding legislative power over
all subjects in list 2 (which are excluzive domains of state legislatures) and List 3 (Concurrent
List subjects on which both parliament and assembliesv can legislate with primacy given to
parliament enacted laws). This means, if the Delhi assembly enacts any law on any subject,
parliament can pass a law “adding, amending and repealing” the legislation passed by the
Delhi assembly.

Dwelling on federalism and responsibilities of an elected government, the CdJl said, “In a
democratic form of government, the real power of administration must reside in the elected
arm of the state, subject to the confines of the constitution. A constitutionally entrenched and
democratically elected government needs to have contol over its administration. If a
democratically elected government is not provided with the power to control the officers
posted within its domain, then the principle underlying the triple chain of collective
responsibility would become redundant.” It explained the triple chains as civil service officers
being accountable to ministers, ministers being accountable to parliament/legislature and
parliament/legislature being accountable to the electorate.

“That is to say, if the government is not able to control and hold to account the officers
posted in its service, then its responsibility towards the legislature as well as the public is
diluted. The principle ofb collective responsibility extends to the responsibility of officers, who
in turn report to the ministers.” the 8C said.

Taking into account the AAP government's allegation that bureaucrats were not
listening to ministers in the elected government because of the centre’s interference, the five-
judge bench said, “If the officers stop reporting to the ministers or do not abide by their
directions, the entire principle of collective responsibility is affected.

“A democratically elected government can perform only when there is an awareness on
the the part of officers of the consequences which may ensue if they do not perform. If the
officers feel that they are insulated from the control of the elected government which they are
serving, then they become unaccountable or may not show commitment towards their
performance.”

Explaining the risks of an unaccountable bureaucracy in a democratic form of governance
where accountahility is well defined under the triple chain of command, the bench said, “An
unaccountable and non-responsive civill service may pose a serious problem of governance in
a democracy. It creates a possibility that the permanent executive, consisting of unelected
civil service officers, who play a decisive role in implementation of government policy, may act
in ways that disregard the will of the electorate.”



Sub questions

Question Number : 1 Question Id : 9209065262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Responsibility towards public is dituted means:

(1) Complete failure in taking responsibility for the public.
(2

) The responsibility was not properly taken care of.

(3 The responsibility became thinner.

(4) More responsibilities were added to the last meant for public.
Options :

92090620801. 1

92090620802. 2

92090620803. 3

92090620804. 4

Question Number : 2 Question Id : 9209065263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Posting within the state ladre of a constituent state shall be made hy:
(As per Supreme Court)

(1) Government of that state.

(2) Duly elected government of that state.

(3) By the union Government.
i(4) By both state and union Government.
Options :

92090620805. 1
92090620806. 2
92090620807. 3
92090620808. 4

Question Number : 3 Question Id : 9209065264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How the entire principle of collective responsibility will be affected?

(A) Only when officers stop responding to the ministers.
(B) Only when officiers do not abide by directions of ministries.
(C) If the officers stop reporting to the ministers.

() If officers do not abide by directions of the ministers.

Choose the correct answer from the options given below :

(1) A only

(2) A and B only

(3) A BandC, D only

i(4) C and D only
Options :

92090620809. 1
92090620810. 2
92090620811. 3
92090620812. 4

Question Number : 4 Question Id : 9209065265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Triple chain refers to: (The order or sequence)

(A) Clivil service officers being accountable to ministers.
(B) Ministers being accountable to parliament.
() Parliament being accountable to electrorate.

(D Electrorate being accountable to the government.

Choose the correct answer from the options given below :

(1) ABCD

(2) ABD

3) ABC

(4) B.C,D
Options :

92090620813. 1
92090620814. 2
92090620815. 3
92090620816. 4



Question Number : 5 Question Id : 9209065266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of ‘accomplish’ is:

(1) achieve (2) relieve
(3) improve (4) adaptable
Options :

92090620817. 1
92090620818. 2
92090620819. 3
92090620820. 4
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Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension






The SC said, “Postings within the state cadre as well as joint cadre of a consitituent
state shall be made by the ‘government of that state’, that is, by the duly elected government.
In our case, it shall be the government of NCTD. We, accordingly, hold that references to
‘state government' in relevant rules of All India Services or joint cadre services, of which
NCTD is a part or which are in relation to NCTD, shall mean the government of NCTD.”

CJI Chandrachud said this case dealt with the asymmetric federal model of governance
in India involving the contest of power between a Union Territory and the Union government.
The issue was who would have control over ‘services’ in NCTD a government of the NCTD or
the LG acting on behalf of the Union government a question which arose subsequent to a May
21, 2015, notification by the Union ministry of home affairs that gave the upper hand to the
centre on ‘services' in relation to the government of NCTD.

While ruling that Delhi government had legislative and executive power over services
except on land, police and public order. the bench, importantly, said GNCTD being one of its
kind (“sui generis”) Union Territory, parliament would have overriding legislative power over
all subjects in list 2 (which are excluzive domains of state legislatures) and List 3 (Concurrent
List subjects on which both parliament and assembliesv can legislate with primacy given to
parliament enacted laws). This means, if the Delhi assembly enacts any law on any subject,
parliament can pass a law “adding, amending and repealing” the legislation passed by the
Delhi assembly.

Dwelling on federalism and responsibilities of an elected government, the CdJl said, “In a
democratic form of government, the real power of administration must reside in the elected
arm of the state, subject to the confines of the constitution. A constitutionally entrenched and
democratically elected government needs to have contol over its administration. If a
democratically elected government is not provided with the power to control the officers
posted within its domain, then the principle underlying the triple chain of collective
responsibility would become redundant.” It explained the triple chains as civil service officers
being accountable to ministers, ministers being accountable to parliament/legislature and
parliament/legislature being accountable to the electorate.

“That is to say, if the government is not able to control and hold to account the officers
posted in its service, then its responsibility towards the legislature as well as the public is
diluted. The principle ofb collective responsibility extends to the responsibility of officers, who
in turn report to the ministers.” the 8C said.

Taking into account the AAP government's allegation that bureaucrats were not
listening to ministers in the elected government because of the centre’s interference, the five-
judge bench said, “If the officers stop reporting to the ministers or do not abide by their
directions, the entire principle of collective responsibility is affected.

“A democratically elected government can perform only when there is an awareness on
the the part of officers of the consequences which may ensue if they do not perform. If the
officers feel that they are insulated from the control of the elected government which they are
serving, then they become unaccountable or may not show commitment towards their
performance.”

Explaining the risks of an unaccountable bureaucracy in a democratic form of governance
where accountahility is well defined under the triple chain of command, the bench said, “An
unaccountable and non-responsive civill service may pose a serious problem of governance in
a democracy. It creates a possibility that the permanent executive, consisting of unelected
civil service officers, who play a decisive role in implementation of government policy, may act
in ways that disregard the will of the electorate.”



Sub questions

Question Number : 1 Question Id : 9209065262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Responsibility towards public is dituted means:

(1) Complete failure in taking responsibility for the public.
(2

) The responsibility was not properly taken care of.

(3 The responsibility became thinner.

(4) More responsibilities were added to the last meant for public.
Options :

92090620801. 1

92090620802. 2

92090620803. 3

92090620804. 4

Question Number : 2 Question Id : 9209065263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Posting within the state ladre of a constituent state shall be made hy:
(As per Supreme Court)

(1) Government of that state.

(2) Duly elected government of that state.

(3) By the union Government.
i(4) By both state and union Government.
Options :

92090620805. 1
92090620806. 2
92090620807. 3
92090620808. 4

Question Number : 3 Question Id : 9209065264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How the entire principle of collective responsibility will be affected?

(A) Only when officers stop responding to the ministers.
(B) Only when officiers do not abide by directions of ministries.
(C) If the officers stop reporting to the ministers.

() If officers do not abide by directions of the ministers.

Choose the correct answer from the options given below :

(1) A only

(2) A and B only

(3) A BandC, D only

i(4) C and D only
Options :

92090620809. 1
92090620810. 2
92090620811. 3
92090620812. 4

Question Number : 4 Question Id : 9209065265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Triple chain refers to: (The order or sequence)

(A) Clivil service officers being accountable to ministers.
(B) Ministers being accountable to parliament.
() Parliament being accountable to electrorate.

(D Electrorate being accountable to the government.

Choose the correct answer from the options given below :

(1) ABCD

(2) ABD

3) ABC

(4) B.C,D
Options :

92090620813. 1
92090620814. 2
92090620815. 3
92090620816. 4



Question Number : 5 Question Id : 9209065266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of ‘accomplish’ is:

(1) achieve (2) relieve
(3) improve (4) adaptable
Options :

92090620817. 1
92090620818. 2
92090620819. 3
92090620820. 4

Sub-Section Number : 2
Sub-Section Id : 920906168
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209065267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To make a meaningful paragraph:

(A) Modern scientific techniques have greatly extended the range of cloning. Now, even
animals can be cloned.

(B) Cuttings may be taken from roots or shouts, and inserted into soil or compost where
they develop into a new plant.

(C) Gardeners have been making clones of plants for centuries. Every time they take a
cutting of a geranium, a rose or any other plant, they are producing a genetically
identical copy a clone.

(1) Ultimately, Hence seems to be no biological reason why human beings should not be
cloued too.

Choose the correct answer from the options given below :

(1) C.B,A,D

(2) ACBD

(3) C.,A B D

{(4) ADCB
Options :

92090620821. 1
92090620822. 2
92090620823. 3



92090620824. 4

Question Number : 6 Question Id : 9209065267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To make a meaningful paragraph:

(A)

(B)

(C)

(D)

Modern scientific techniques have greatly extended the range of cloning. Now, even
animals can be cloned.

Cuttings may be taken from roots or shouts, and inserted into soil or compost where
they develop into a new plant.

Gardeners have been making clones of plants for centuries. Every time they take a
cutting of a geranium, a rose or any other plant, they are producing a genetically
identical copy a clone.

Ultimately, Hence seems to be no biological reason why human beings should not be
cloued too.

Choose the correct answer from the options given helow :

=

(
(2)
(3)
(4)

)

C,B,A.D
ACBD
C.A B, D
ADC B

Options :

92090620821. 1
92090620822. 2
92090620823. 3
92090620824. 4

Question Number : 7 Question Id : 9209065268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given option?

(1)
()

Triboluminescence (2) Tribaleminescence

Tribooluminescenca {4) Tribulominescence

Options :

92090620825. 1
92090620826. 2
92090620827. 3
92090620828. 4



Question Number : 7 Question Id : 9209065268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given option?

(1) Triboluminescence (2) Tribaleminescence
(3) Tribooluminescenca (4) Tribulominescence
Options :

92090620825. 1
92090620826. 2
92090620827. 3
92090620828. 4

Question Number : 8 Question Id : 9209065269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option to replace the underlined part into make a grammatically correct
sentence.

Had he realized how close he was to failing, he would not have gone to the party.

(1) If he would have realised how close he was to failing, he would not have gone to the
party.
(2) Had he had realised how close he was to failing, he would not have gone to the party.

(3) When he realized how close he was to failing, he would not have gone to the party.

(4) Had he realised how close he was to failing. he would not have gone to the party.

Options :

92090620829. 1
92090620830. 2
92090620831. 3
92090620832. 4

Question Number : 8 Question Id : 9209065269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option to replace the underlined part into make a grammatically correct
sentence.

Had he realized how close he was to failing, he would not have gone to the party.

(1) It he would have realised how close he was to failing, he would not have gone to the
party.
(2) Had he had realised how close he was to failing, he would not have gone to the party.

(3) When he realized how close he was to failing, he would not have gone to the party.

(4) Had he realised how close he was to failing, he would not have gone to the party.

Options :

92090620829. 1
92090620830. 2
92090620831. 3
92090620832. 4

Question Number : 9 Question Id : 9209065270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The belief that one is more important than one really is:

(1) Mascot {(2) Megalomania
(3) Mirage {(4) Mocecasin
Options :

92090620833. 1
92090620834. 2
92090620835. 3
92090620836. 4

Question Number : 9 Question Id : 9209065270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The belief that one is more important than one really is:

(1) Mascot {(2) Megalomania
(3) Mirage {(4) Moceasin
Options :

92090620833. 1
92090620834. 2
92090620835. 3



92090620836. 4

Question Number : 10 Question Id : 9209065271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “INTRICACY™ of:

(1) Extricate (2) Cordiality
(3 Simplicity (4) Distance
Options :

92090620837. 1
92090620838. 2
92090620839. 3
92090620840. 4

Question Number : 10 Question Id : 9209065271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “INTRICACY™ of:

(1) Extricate (2) Cordiality
i(3) Simplicity {(4) Distance
Options :

92090620837. 1
92090620838. 2
92090620839. 3
92090620840. 4

Question Number : 11 Question Id : 9209065272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In how many vears will a sum of money desbled itself at 6 4 % per annum simple intrest?
(1) 8 (2) 16

(3) 20 4y B

Options :
92090620841. 1
92090620842. 2



92090620843. 3
92090620844. 4

Question Number : 11 Question Id : 9209065272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many vears will a sum of money desbled itself at 6 4 % per annum simple intrest?

(1) 8 (2) 16
(3) 20 (1) B

Options :

92090620841. 1
92090620842. 2
92090620843. 3
92090620844. 4

Question Number : 12 Question Id : 9209065273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 3 cot =4, the value of then h sin20 - cos2 08 +tan B is

57 47

1 = By e

e 100 . 100
: 16 9
T @

Options :

92090620845. 1
92090620846. 2
92090620847. 3
92090620848. 4

Question Number : 12 Question Id : 9209065273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If 3 cot D=4, the value of then h 8in20 - eos20 +tan B is

57 47
1 = |
b 100 @ 100

16 9
3 — iy s
(3) 5¢ (4) 55

Options :

92090620845. 1
92090620846. 2
92090620847. 3
92090620848. 4

Question Number : 13 Question Id : 9209065274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amar sold a ratio for Rs.1100 with 10% profit and a television for Rs.11500 with 15% profit.
His overall profit percentage 1s:

5 7
1y 122% ) 13
(D The & en

, 6 5
@ 145% @ 135%

Options :

92090620849. 1
92090620850. 2
92090620851. 3
92090620852. 4

Question Number : 13 Question Id : 9209065274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amar sold a ratio for Es.1100 with 10% profit and a television for Rs.11500 with 15% profit.
His overall profit percentage is:
5

7

1 12—% 2 13—9%

(1) T o (2) T °
6 5

(3) ]4ﬁ% (4) 13—2%

Options :



92090620849. 1
92090620850. 2
92090620851. 3
92090620852. 4

Question Number : 14 Question Id : 9209065275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic hemisphese having radius R is melted and recasted as a cone with the same
base radius R. If H is the height of the cone so formed, then the relation between H and R is:

(1) H=2R (2) H=%R
(3) H=4BR (4) H=3R

Options :

92090620853. 1
92090620854. 2
92090620855. 3
92090620856. 4

Question Number : 14 Question Id : 9209065275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic hemisphese having radius R is melted and recasted as a cone with the same
base radius R. If H is the height of the cone so formed, then the relation between H and R is:

(1) H=2R (2) H=%R
(3) H=43R (4) H=3R

Options :

92090620853. 1
92090620854. 2
92090620855. 3
92090620856. 4

Question Number : 15 Question Id : 9209065276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ten men working 8 hours a day can do a work in 15 days. How many more men need to be
employed to do the same work in 10 days. If everyone works 10 hours per day?

(1) 1 (2)
(3 3 4 4

(]

Options :

92090620857. 1
92090620858. 2
92090620859. 3
92090620860. 4

Question Number : 15 Question Id : 9209065276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ten men working 8 hours a day can do a work in 15 days. How many more men need to be
employed to do the same work in 10 days. If everyone works 10 hours per day?

(1) 1 (2)
(3) 3 4 4

]

Options :

92090620857. 1
92090620858. 2
92090620859. 3
92090620860. 4

Question Number : 16 Question Id : 9209065277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a womwn, sunil said, “She is the daughter of the only child of my grandmother.”
How is the women related to sunil?

(1) Mother-in-law (2) Aunt
(3 Daughter (4) Sister
Options :

92090620861. 1
92090620862. 2
92090620863. 3
92090620864. 4



Question Number : 16 Question Id : 9209065277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a womwn, sunil said, “She is the daughter of the only child of my grandmother.”
How is the women related to sunil?

(1) Mother-in-law (2) Aunt
(3) Daughter (4) Sister
Options :

92090620861. 1
92090620862. 2
92090620863. 3
92090620864. 4

Question Number : 17 Question Id : 9209065278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code, MOTHER is written as QDGSNL, then how is TIGER written in that code?

(1) SHFDQ (2) HFDSQ
(3) QDFHS (4) PQRST
Options :

92090620865. 1
92090620866. 2
92090620867. 3
92090620868. 4

Question Number : 17 Question Id : 9209065278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code, MOTHER is written as QDGSNL, then how is TIGER written in that code?

(1) SHFDQ (20 HFDSQ
(3) QDFHS (4) PQRST
Options :

92090620865. 1
92090620866. 2



92090620867. 3
92090620868. 4

Question Number : 18 Question Id : 9209065279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The positions of how many digits in the number 6912345 will remain unchanged after
the digits are rearranged in ascending order within the number?

(1) Zero (2) One
(3) Two (4) Three
Options :

92090620869. 1
92090620870. 2
92090620871. 3
92090620872. 4

Question Number : 18 Question Id : 9209065279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The positions of how many digits in the number 6912345 will remain unchanged after
the digits are rearranged in ascending order within the number?

(1) Zero (2) One
(3) Twao {4) Three
Options :

92090620869. 1
92090620870. 2
92090620871. 3
92090620872. 4

Question Number : 19 Question Id : 9209065280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Decide which of the arguments is a "strong argument’ and which is a ‘weak argument’.

Statement :  Should India support all the international policies of Russia?
Arguments
(I) Yes, This is the only way to gain accers to Russia developmental funds.

(1I) No, Many other powerful countries do not support the same,

In the light of the above statement, choose the correct answer from the options given below :

(1) Only argument I is strong.
(2) Only argument I1 is strong.
(3 Either I or I1 is strong.

(4) Neither I or 11 is strong.

Options :

92090620873. 1
92090620874. 2
92090620875. 3
92090620876. 4

Question Number : 19 Question Id : 9209065280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Decide which of the arguments is a "strong argument’ and which is a ‘weak argument’.

Statement :  Should India support all the international policies of Russia?
Arguments
(I) Yes, This is the only way to gain accers to Russia developmental funds.

(1I) No, Many other powerful countries do not support the same,

In the light of the above statement, choose the correct answer from the options given below :

(1) Only argument I is strong.
(2) Only argument I1 is strong.
(3 Either I or I1 is strong.

(4) Neither I or 11 is strong.

Options :

92090620873. 1
92090620874. 2
92090620875. 3
92090620876. 4

Question Number : 20 Question Id : 9209065281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the figure which is different from others

M F  H | D

(a) (b) (c) (d)

(1) (a) 2 (b)
(3 () (4) (d)

Options :

92090620877. 1
92090620878. 2
92090620879. 3
92090620880. 4

Question Number : 20 Question Id : 9209065281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the figure which is different from others

M F  H | D

(a) (b) (c) (d)

(1) (a) (2) (b)
(3 () (4) (d)
Options :

92090620877. 1
92090620878. 2
92090620879. 3
92090620880. 4

Question Number : 21 Question Id : 9209065282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydropower plant in bhutan was inaugurated recently by Indian prime minister
Narendra Modi?

(1) Chhukha power plant (2) Daughter power plant
(3) Kurichha power plant (4) Mangdechha power plant
Options :

92090620881. 1
92090620882. 2
92090620883. 3
92090620884. 4

Question Number : 21 Question Id : 9209065282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which hydropower plant in bhutan was inaugurated recently by Indian prime minister
Narendra Modi?

(1) Chhukha power plant (2) Daughter power plant
(3) Kurichha power plant (4) Mangdechha power plant

Options :

92090620881. 1
92090620882. 2
92090620883. 3
92090620884. 4

Question Number : 22 Question Id : 9209065283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :
List I List IT
(Term) {Explanation)
(A)  Fiseal Deficit (I) Exess of total expenditure over
total receipts, less borrowing
(B) Budget Deficit (II) E=xess of total expenditure over
total receipts
(C) Revenue Deficit (IIT) Exess of revenue expenditure
over revence receipts
(D) Primary Deficit (IV) Exess of total expenditure over

total receipts, less borrowings
and interest payment.

Choose the correct answer from the options given below:

(1) (A)-(D). (B)-(ID), (O)-(I1I), (D)-(IV)
(2) (A)-(I), (B)-(II), (C)-(IV), (D)-(LLI)
(3) (A)-(IV), (B)-(IIT), (C)-(11), (D)-(D)
(4) (A)-(IV), (B)-(III), (C)-(I). (D)-(11)

Options :

92090620885. 1
92090620886. 2
92090620887. 3
92090620888. 4

Question Number : 22 Question Id : 9209065283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :
List I List IT
(Term) {Explanation)
(A)  Fiseal Deficit (I) Exess of total expenditure over
total receipts, less borrowing
(B) Budget Deficit (II) E=xess of total expenditure over
total receipts
(C) Revenue Deficit (IIT) Exess of revenue expenditure
over revence receipts
(D) Primary Deficit (IV) Exess of total expenditure over

total receipts, less borrowings
and interest payment.

Choose the correct answer from the options given below:

(1) (A)-(D). (B)-(ID), (O)-(I1I), (D)-(IV)
(2) (A)-(I), (B)-(II), (C)-(IV), (D)-(LLI)
(3) (A)-(IV), (B)-(IIT), (C)-(11), (D)-(D)
(4) (A)-(IV), (B)-(III), (C)-(I). (D)-(11)

Options :

92090620885. 1
92090620886. 2
92090620887. 3
92090620888. 4

Question Number : 23 Question Id : 9209065284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The second round table conference at landen was held in the backdrop of

(1) Emerson-gandhi pact (2) Hailey-Gandhi pact
(3 Gandhi-Irwin pact (4) Gandhi-Simon pact

Options :

92090620889. 1
92090620890. 2
92090620891. 3
92090620892. 4

Question Number : 23 Question Id : 9209065284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The second round table conference at landen was held in the backdrop of

(1) Emerson-gandhi pact (2) Hailey-Gandhi pact
(3) Gandhi-Irwin pact (4) Gandhi-Simon pact
Options :

92090620889. 1
92090620890. 2
92090620891. 3
92090620892. 4

Question Number : 24 Question Id : 9209065285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Aszertion (A) ; The velocity of sound in air increases due to the presence of moisture in air.

Reasons (R) : The pressure of moisture in air increases the density of air.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3 (A) 1s correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :

92090620893. 1
92090620894. 2
92090620895. 3
92090620896. 4

Question Number : 24 Question Id : 9209065285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).
Aszertion (A) ; The velocity of sound in air increases due to the presence of moisture in air.

Reasons (R) : The pressure of moisture in air increases the density of air.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 1s correct but (R) is not correct

i(4) (A) 15 not correct but (B) is correct

Options :

92090620893. 1
92090620894. 2
92090620895. 3
92090620896. 4

Question Number : 25 Question Id : 9209065286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement I :  The constitution of India is a liberal Constitution.

Statement I1 : It provides fundamental rights to individual.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement 11 is false
(4) Statement I is false but Statement Il is true

Options :



92090620897. 1
92090620898. 2
92090620899. 3
92090620900. 4

Question Number : 25 Question Id : 9209065286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements ;
Statement I :  The constitution of India is a liberal Constitution.

Statement [1 : It provides fundamental rights to individual.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true

(2) Both Statement I and Statement 11 are false

(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement II is true
Options :

92090620897. 1
92090620898. 2
92090620899. 3
92090620900. 4

Part B: Disaster Studies

Section Id : 920906106
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 920906169
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 9209065287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SOP Stands for

(1) Standerd operationprotocol (2) Standerd operating practices

(3 Standerd operating procedure (4) Standerd operating plan
Options :

92090620901. 1
92090620902. 2
92090620903. 3
92090620904. 4

Question Number : 26 Question Id : 9209065287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA HI U ET7

(1) Was ARYHE UeIhd 2) W3S e UfgeRm
3) WEs SR miter (4) W3S AR @A
Options :

92090620901. 1
92090620902. 2
92090620903. 3
92090620904. 4

Question Number : 27 Question Id : 9209065288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which ministry in govt of india coordinates all aspects of disaster managent in india

(1) Defense Ministry (2) Health Ministry
(3) Home Ministry {(4) Agricultural Ministry
Options :

92090620905. 1
92090620906. 2
92090620907. 3
92090620908. 4

Question Number : 27 Question Id : 9209065288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA THR # S I HIGT HRd H 31Ul Ueeq & Tt uelf &1 g9<ag a1 g ?

(1) &1 {3y (2) WY HIRHY
(3) 7§ HAWY (4) DN HATY
Options :

92090620905. 1
92090620906. 2
92090620907. 3
92090620908. 4

Question Number : 28 Question Id : 9209065289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IPCC Stands for

(1) Inter governmental penal for conservation of coasts

(2) Inter governmental penal of confidaration of countries.

(3) Intergovernmental penal on climate change.

(4) Inter governmental penal on coopration of countries
Options :

92090620909. 1
92090620910. 2
92090620911. 3
92090620912. 4



Question Number : 28 Question Id : 9209065289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s A A dgiEu g

(1) e a-Hed 390 BR HoldH S ey
2) SR ITHCH I BR Hhe A AP deld
(3) SR IG-Hed g qagHe do

(4)  FeXTEAHCA U 3 SIS 36 Bl

Options :

92090620909. 1
92090620910. 2
92090620911. 3
92090620912. 4

Question Number : 29 Question Id : 9209065290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following legal frameworks lays down the Institutional and co-ordination
mechanisms for disaster management in India

(1) Disaster Management policy 2009
(2) National disaster management plan 2016
(3) Sendai frameworks 2015-30.

(4) Disaster management Act, 2005

Options :

92090620913. 1
92090620914. 2
92090620915. 3
92090620916. 4

Question Number : 29 Question Id : 9209065290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gnﬁﬁ&mﬁm%gm d 999 o3 &I 9 d ¥ 31 91 faftie e Muffd s
?

(1) 3fmuer useE Hifd, 2009 (2) PG SMYST UdE GIsI, 2016
(3) HESTE WHES 2015-30 (4) 3HOEr e feFEE, 2005
Options :

92090620913. 1
92090620914. 2
92090620915. 3
92090620916. 4

Question Number : 30 Question Id : 9209065291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How much landsurface in India is vulnerable to modrate and high intensity earthquake risk

(1) T0% (2} 30%
(3) 50% 4y 27%
Options :

92090620917. 1
92090620918. 2
92090620919. 3
92090620920. 4

Question Number : 30 Question Id : 9209065291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA H a1 Yo &7 Head 3R I disal Ya&rd siia & ufd sRigd g2

(1) 70% (2) 30%
(3) 58% (4) 27%
Options :

92090620917. 1
92090620918. 2
92090620919. 3
92090620920. 4



Question Number : 31 Question Id : 9209065292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tsunami warning system is deploved in which of the following sea / oceanin India

(1) India ocean (2) Arabian sea
(3) Bay of Bengal (4) Andaman sea
Options :

92090620921. 1
92090620922. 2
92090620923. 3
92090620924. 4

Question Number : 31 Question Id : 9209065292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA # AT e gorrel! fd IPR/ASRIR # oF1d &1 715 67

(1) fEeHgmrR (2) SRE IR
(3) W HEIS (4) SISHHF TS
Options :

92090620921. 1
92090620922. 2
92090620923. 3
92090620924. 4

Question Number : 32 Question Id : 9209065293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is known as the hostpot of the landslide in India?

(1) Srinagar (2) Shimla
(3 Sikkim (4) Nilgiris
Options :

92090620925. 1
92090620926. 2
92090620927. 3
92090620928. 4



Question Number : 32 Question Id : 9209065293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeiad 4 o 91 ®F yxaeH ot €f® 9 siitie yaur gle Wre) §?

(1) 9HFTR 2) e
3) Tulgsw @) e
Options :

92090620925. 1
92090620926. 2
92090620927. 3
92090620928. 4

Question Number : 33 Question Id : 9209065294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following earthworks waves arrives first during earthworks

(1) S waves (2) Love Waves
(3) P waves (4) Rayleigh waves
Options :

92090620929. 1
92090620930. 2
92090620931. 3
92090620932. 4

Question Number : 33 Question Id : 9209065294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yehul & R FHgfiiaa o 4 &F 4

(1) THJH (2) ©ddod
(3) didoH (4) Yol doq
Options :

92090620929. 1
92090620930. 2
92090620931. 3



92090620932. 4

Question Number : 34 Question Id : 9209065295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amplitude of a Tsunami wave in the mid sea is

(1) Less than 1 meter {(2) less than 5 meteres
(3 Around 15 meters (4)  Around 20 meters
Options :

92090620933. 1
92090620934. 2
92090620935. 3
92090620936. 4

Question Number : 34 Question Id : 9209065295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s & A T A 0 &1 AW g § 9 B gar g2

(1) 1HIIASH (2) S5HEXTAFH
(3)  TTHI 15 Hiex (4) TATHI 20 HieX
Options :

92090620933. 1
92090620934. 2
92090620935. 3
92090620936. 4

Question Number : 35 Question Id : 9209065296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The coalition for disaster resilient Infrastructure (CDRR) is an international coalition of
countries, united nation agencies, multilatared developemant banks the private sector and
acedemic institutions that aims to promte disaster resilient infrastructure was proposed by

(1) Antonio Guterres, Sevetary General of UN.
(2) Boris Johnson, formar prime mister of UK

(3) joseph Robinette Biden jr. president of USA

i(4) Narendra Modi prime minister of india

Options :

92090620937 1
92090620938. 2
92090620939. 3
92090620940. 4

Question Number : 35 Question Id : 9209065296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WWWWWWWW}WW &1 Taldi, Sgusig
Ty da!, ol 87 iR siPpeie dwrsi ?ﬂwsmﬂ%g ﬁrﬂaﬂm&m
TRl SR e & gerdl 341 81 39 B &I 9 e R un?

(1) Gl o, Heried, Sgad Ay 9y
(2) R A, fses & yagd v

(3) S AfEE SrgS R, HYH I ST & IPufd
(4) TR AEL R & TTEA

Options :

92090620937 1
92090620938. 2
92090620939. 3
92090620940. 4

Question Number : 36 Question Id : 9209065297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following ecosystem is most vulnerable to over exploitation?

(1) Tropical forests (2} Coral reefs
(3) Polar region {4y (Grasslands



Options :

92090620941. 1
92090620942. 2
92090620943. 3
92090620944. 4

Question Number : 36 Question Id : 9209065297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofafag & ¥ o a1 uifufaes & srafie e & ufa uaiite srfdd g2

(1) JuHhiedsy a4 ) T
3) ydlaaz (4) N ®d
Options :

92090620941. 1
92090620942. 2
92090620943. 3
92090620944. 4

Question Number : 37 Question Id : 9209065298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following gas is the primary contributor to global warming?

(1) Nitrogen (2) Oxygen
(3) Carbon Dioxide (4) Methane
Options :

92090620945. 1
92090620946. 2
92090620947. 3
92090620948. 4

Question Number : 37 Question Id : 9209065298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofalad o § & 9t 19 34 auE & e sk g2

(1) oA (2) SMEeH
(3) FIEA SE3THES (4) HEAF
Options :

92090620945. 1
92090620946. 2
92090620947. 3
92090620948. 4

Question Number : 38 Question Id : 9209065299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to CREED data (2015) 90% of recorded major disaster caused by natural hazards
from 1995 to 2015 ware linked to

(1) Tzunami (2) Cyclones
(3) landslides (4) Weather and climate
Options :

92090620949. 1
92090620950. 2
92090620951. 3
92090620952. 4

Question Number : 38 Question Id : 9209065299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DI (¥ 3R § § S) bS] (2015) F IR 1995 F 2015 & &l UIpidd Hbel b HRU §s
wE fUfIRad smuersi & § 90% Fafafea § 9§ fw gt 4

(1) A (2) dehard
(3) Y¥EaH (4) WY 9 Sddyg
Options :

92090620949. 1
92090620950. 2
92090620951. 3
92090620952. 4



Question Number : 39 Question Id : 9209065300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a component of G188 frameworks

(1) Data Acquisition and management

(2) Analysis and modeling

(3) Disaster response and recovery

{4) Data visualization and dissemination
Options :

92090620953. 1
92090620954. 2
92090620955. 3
92090620956. 4

Question Number : 39 Question Id : 9209065300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad #§ @ & St o5 T ¢id &1 U duesd el 82

(1) a1 feRrgu 9 ydeH 2) fd=cawur 9 giaeyo
(3)  SHTUeT 3FfHAT d YIS (4) ST HFH UdatHo

Options :

92090620953. 1
92090620954. 2
92090620955. 3
92090620956. 4

Question Number : 40 Question Id : 9209065301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which phase of dizsaster management cycle is gender sensitive---

(1) Mitigation (2) Preparedness
(3) Response (4) Recovery

Options :



92090620957. 1
92090620958. 2
92090620959. 3
92090620960. 4

Question Number : 40 Question Id : 9209065301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T UsiEH dh BT DI 1 TR0 SieX Hddl gidl 872

(1) SR 2) durt
(3)  Srfeean (4) YT
Options :

92090620957. 1
92090620958. 2
92090620959. 3
92090620960. 4

Question Number : 41 Question Id : 9209065302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the primary cause of floods

(1) Tornadoes (2) Hurricanes
(3 Earthquakes (4) Heavy Rainfall
Options :

92090620961. 1
92090620962. 2
92090620963. 3
92090620964. 4

Question Number : 41 Question Id : 9209065302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dIE &1 Ui SR $H 91 87

(1) §d83 (2) TH®HE
(3) Y&u (4) HIYaul
Options :

92090620961. 1
92090620962. 2
92090620963. 3
92090620964. 4

Question Number : 42 Question Id : 9209065303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which natural hazard causes the most deaths worldwide according to Global risk index?

(1) Earthquakes (2) Floods
(3) Cvclones (49 Drought
Options :

92090620965. 1
92090620966. 2
92090620967. 3
92090620968. 4

Question Number : 42 Question Id : 9209065303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ay Sifey Ya&i® & AR &4 Uiefds doe § Ay 1 wailte Od gidl 82

(1) Y&d (2) dlg
(3) dehdld (4) 4@l
Options :

92090620965. 1
92090620966. 2
92090620967. 3
92090620968. 4

Question Number : 43 Question Id : 9209065304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is risk?

(1 The potential Harm or loss resulting from an event.

(2) The physical exposure to an event.

(3 The likelihood of an event occuring.

(4) The resilience of a system or population to harm from an event.
Options :

92090620969. 1
92090620970. 2
92090620971. 3
92090620972. 4

Question Number : 43 Question Id : 9209065304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SiifEH =1 g2

(1) &4 9o & Baasy U THUH 31yl &fd

2)  T&d g & ufad RIS sRféddn

(3) Tt g & afed g1 &1 Hu1a=

(4) Tl geT A €1 arat I & Ufd wormedt siyar srerd ot draeiierd

Options :

92090620969. 1
92090620970. 2
92090620971. 3
92090620972 4

Question Number : 44 Question Id : 9209065305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which International Organization is responsible for Implementing the Sendai Freamwork
2015-30

(1) United nations Development programme (UNDP)

(2) United nations Environment programme (UNEF)

(3 United nations Office for dizaster risk reduction (UNDRR)

i(4) United nations high commission for refugees (UNHCR)



Options :

92090620973. 1
92090620974. 2
92090620975. 3
92090620976. 4

Question Number : 44 Question Id : 9209065305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YeTE Trrads 2015-30 BT HIA-GEA g P I1 SiRTPT 1 IJRard 82

() g g e s @ w St

() WY Y iR HHEHH (U U

(3) YT Y SIS SIEH TR (T 8T 3R 3R
(4)  HgE g RO IS (g T T i SR

Options :

92090620973. 1
92090620974. 2
92090620975. 3
92090620976. 4

Question Number : 45 Question Id : 9209065306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following sustainible development goal aims to reduce the number of people
affected by disaster and increase the resilience and adaptive capacity of communities to
disasters

(1) Goal 5 (2} Goal9
(3) Goal 11 (4) Goal 13
Options :

92090620977. 1
92090620978. 2
92090620979. 3
92090620980. 4

Question Number : 45 Question Id : 9209065306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g wad fasra aedl (@E St o) d fuc Igd ¢ smueredl @ yuifdd eF arll sufear @1
G DI HH AT AR 3UTSH B draeiicidl 9 sda- &mal 7 gig S

(1) d&d5 (2) ©&d9
(3) d&n (4) d&d13
Options :

92090620977. 1
92090620978. 2
92090620979. 3
92090620980. 4

Question Number : 46 Question Id : 9209065307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which pandemic resulted in the highest number of deaths in the world

(1) Covid-19 (2) Spanish FLU
(3 Ebola (4) HIV/AIDS
Options :

92090620981. 1
92090620982. 2
92090620983. 3
92090620984. 4

Question Number : 46 Question Id : 9209065307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prafifea # @ few fy & waiie b g8 87

(1) @Ifds19 (2) WY wR
3 & (4) UHIMRAY/USH
Options :

92090620981. 1
92090620982. 2
92090620983. 3
92090620984. 4



Question Number : 47 Question Id : 9209065308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of health issue that may arise in the after math of a
disaster.

(1) Heart Disease

(2) High Blood Pressure

(3) Post- Traumatic Stress disorder{PTSD)
(4) Diabeties

Options :

92090620985. 1
92090620986. 2
92090620987. 3
92090620988. 4

Question Number : 47 Question Id : 9209065308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁ%ﬂiﬁaﬁﬁaﬁ?@wﬁmgﬁaﬂm%ﬁmmﬁqmmaw
?

(1) &g (2) I TGE™
(3) AU UydId PR @A wwE) 4) HAYES

Options :

92090620985. 1
92090620986. 2
92090620987. 3
92090620988. 4

Question Number : 48 Question Id : 9209065309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is an application of GIS in disaster risk reduction?

(1) Hazard Zonation

(2) Disaster Response

(3) capacity Developement
(4) Disaster Recovery

Options :

92090620989. 1
92090620990. 2
92090620991. 3
92090620992. 4

Question Number : 48 Question Id : 9209065309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19l HREH sredido ¥ Fufeiad § 4 S St 31S T SHuR &1 Ud 33160 87

(1) e e @heE) (2) 3MmuaT srIfsha
(3)  &Har faer (4) Ul Ted
Options :

92090620989. 1
92090620990. 2
92090620991. 3
92090620992. 4

Question Number : 49 Question Id : 9209065310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the primary goal of land use zoning?

(1) To Promote development in all areas
(2) To Prohibit development in certain areas
(3) To encourage urban sprawl

(4) To provide Accessibility to poor people for the usage of land

Options :

92090620993. 1
92090620994. 2
92090620995. 3
92090620996. 4



Question Number : 49 Question Id : 9209065310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y JUTRT STHRYT (SNf-) 1 Urufiie deg 1 82

(1) Gt & ¥ ey HadH

(2) iUy &Et | faery fAdy

(3)  3fodaiyd Igsd thelld $i Wiciied Bl
@) Y 3uan F foe wHiel &1 ugd ugHE HRAl

Options :

92090620993. 1
92090620994. 2
92090620995. 3
92090620996. 4

Question Number : 50 Question Id : 9209065311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The hasic purpose of implementing building codes in land use planning?

(1) To Promote the use of cheap material in construction.
(2) To promote the cost of insurance premium in a particular area.
(3) To ensure building are constructed in a way that reduces their vulnerability to natural
disaster
(4) To encourage development in high risk areas
Options :

92090620997. 1
92090620998. 2
92090620999. 3
92090621000. 4

Question Number : 50 Question Id : 9209065311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 394N F va o Sfgar & fharana &1 gFard Sexg # 9 8?

(1) o & ot 9l & IudnT 1 gerat oA
) & a9 o Sy diftew &1 ara &1 gern

(3)  Ue GREE &A1 F1 Ha &1 A 39 yeR 8 Rl wiefae smuesh & ufa St
SR[&dT U

4) I WEH &1 H [AHTH &1 Uredied &A1

Options :

92090620997. 1
92090620998. 2
92090620999. 3
92090621000. 4

Question Number : 51 Question Id : 9209065312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the purpose of emergency medical triage?

(1) To provide Advanced medical care to patients.
(2) To daignose and treat patients in field.
(3) To prioritize patient care based on the security of the condition.
(4) To transport patients to medical facilities.
Options :

92090621001. 1
92090621002. 2
92090621003. 3
92090621004. 4

Question Number : 51 Question Id : 9209065312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T RGP SIS &1 3534 H1 8idl 87

(1) AT &1 IFd Ry SEyd U S

(2) &3 | I &1 FeE 9 IuER

(3) 0Tt BT srawyr F TR & YR W I B S@HTA B UrdHEHar <1
(4)  frgl & Rifedn st ab ggarn



Options :

92090621001. 1
92090621002. 2
92090621003. 3
92090621004. 4

Question Number : 52 Question Id : 9209065313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of converting kinetic energy into potential energy as tsunami wave strikes the
coast is called as

(1) Shoaling (2) Wave refrection.
(3) Swelling (4) Inundation
Options :

92090621005. 1
92090621006. 2
92090621007. 3
92090621008. 4

Question Number : 52 Question Id : 9209065313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Waﬁgﬁmmmﬁﬁnﬁmﬁ%ﬁmgﬁmﬁﬁﬁummaﬂm&w
el oIl &7

(1) A (2) aYI SUEdA
(3) JHR (4) Helld-
Options :

92090621005. 1
92090621006. 2
92090621007. 3
92090621008. 4

Question Number : 53 Question Id : 9209065314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following sustainible goals aims to promote gender equality and empower
women?

(1) Goal 1 (2) Goal2
(3) Goal 5 (4) Goal 8
Options :

92090621009. 1
92090621010. 2
92090621011. 3
92090621012. 4

Question Number : 53 Question Id : 9209065314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁgaﬁﬁmmﬁmmmmmﬁmﬁmmaﬁaﬁw
HE 87

() d&1 (2) ©eg?2
(3) o&d 5 (4) &8
Options :

92090621009. 1
92090621010. 2
92090621011. 3
92090621012. 4

Question Number : 54 Question Id : 9209065315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a key provision of the paris Agreement on climate change?

(1) The establishment of global fund to compensate countries affected by climate chnge.
(2) The requirement of developed countries to provide financial and technical support to
developing countries for climate action.
(3) The establishment of international court to prosecute countries for violations of
agreement.
(4) The recognition of the right to economic growth of development for all countries.
Options :

92090621013. 1
92090621014. 2



92090621015. 3
92090621016. 4

Question Number : 54 Question Id : 9209065315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Siearg uRad desd 9y sl &1 A & 9 S U 581 ey g2

(1)  Soarg uiad | yuiad 3= &l afagfd 2q ai%e R ot v

(2) Caayg &1 &g [Aeriia oui & fasiia 2 & gr favdia @ ae-ie! widd uem
U o9 >t aggHar

(3) EHED & Jeuyd w39 & e & forg sierighy =marer &1 i
(4)  onfifep gig 9 faehra & Wl 3 & SifdR &l Aral

Options :

92090621013. 1
92090621014. 2
92090621015. 3
92090621016. 4

Question Number : 55 Question Id : 9209065316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the name of the global agreement under the UNFCCC 2015 to combat climate
change?

(1) Kyoto protocol (2) Paris agreement
(3 Cophenhagen accord (4) Durban Platform
Options :

92090621017. 1
92090621018. 2
92090621019. 3
92090621020. 4

Question Number : 55 Question Id : 9209065316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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?

(1) R RS 2) ofw i
(3) BIUARTH (4) SYEH WBH
Options :

92090621017. 1
92090621018. 2
92090621019. 3
92090621020. 4

Question Number : 56 Question Id : 9209065317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to [PCC what is the estimated rise in global Temprature for the next 20 years

(1) Less than 1°C (2) Around 1.5+C
(3) More than 2¢C (4)  Around 0.5C
Options :

92090621021. 1
92090621022. 2
92090621023. 3
92090621024. 4

Question Number : 56 Question Id : 9209065317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

313 bt T & SUR SRTd 20 96 & T Af%yes arawE # srgiFa gis favai 82

(1) 1°J4.IFH (2) TIMT1.5° 9,
(3) 229 9 3UF (4) THT1.5° 9,
Options :

92090621021. 1
92090621022. 2
92090621023. 3
92090621024. 4



Question Number : 57 Question Id : 9209065318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which social science prespective views disaster as oppurtinities for social change and
transform ations?

(1) Structural- functionalism (2) Conlict theory
(3) Symbolic intractionism (4) Post modernism
Options :

92090621025. 1
92090621026. 2
92090621027. 3
92090621028. 4

Question Number : 57 Question Id : 9209065318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & ¥ ®1F 91 ga fagrt uRueg smuerst &1 grmifee uiiads @ T uiaiu & 3l &
g 1 3@l 87

(1)  EEATHS-UHHanT 2) @e Rgid
(3) UdidbHS 3id:fhamarg (4) IR AMYfAHdmaE

Options :

92090621025. 1
92090621026. 2
92090621027. 3
92090621028. 4

Question Number : 58 Question Id : 9209065319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a type of vulnerahility assesement approach?

(1) Qualitative Approach (2) Quantitative Approach
(3) Social Approach (4) Mixed method Approach
Options :

92090621029. 1
92090621030. 2



92090621031. 3
92090621032. 4

Question Number : 58 Question Id : 9209065319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad # ¥ S YU Sdd- SURH &1 Udh YHR el o7

(1) 7oA JUNTH (2) HEED IUNTH
(3)  gHIfe® IUrTH (4) fofera fafs Iurm
Options :

92090621029. 1
92090621030. 2
92090621031. 3
92090621032. 4

Question Number : 59 Question Id : 9209065320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the fundamental purpose of integerating risk reduction into developmental planning

(1) To priortize hazards for mitigation

(2) Mass Awareness compaigns

(3 To allocate resources for disaster recovery

(4) To build resilience and reduce vulnerability to hazards over long term
Options :

92090621033. 1
92090621034. 2
92090621035. 3
92090621036. 4

Question Number : 59 Question Id : 9209065320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) URmEA & foe Sniawi &t urufiear FHufo
(2) ARt fiEE

(3)  SMYST ASM & e TH1eH afided &A1
(4) crafar gq ddel & Ufd araiiaar FHfor g greer e

Options :

92090621033. 1
92090621034. 2
92090621035. 3
92090621036. 4

Question Number : 60 Question Id : 9209065321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the correct technique for administering CPR?

(1) Place the patient in the recovery position and administor chest compression only
(2) Administer reseuc breaths only
(3) Administer chest compression and resure breaths in a ratio of 30:2
{4) Administer chest compression and rescue breaths in a ratio of 15:1.
Options :

92090621037. 1
92090621038. 2
92090621039. 3
92090621040. 4

Question Number : 60 Question Id : 9209065321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1t 3R A Bt T dHD 1 82

(1) ft B Fhadl srawyT § el R dad diH $l gan
(2) Pdd ad/d 94 ¢
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Options :



92090621037. 1
92090621038. 2
92090621039. 3
92090621040. 4

Question Number : 61 Question Id : 9209065322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What kind of systems needs to be developed for implementation during the reconstruction
and recovery phase

(1) System for providing emergancy aid
(2) Systems for providing physical infrastructure
(3) Systems for providing physo-social support and trauma councelling

(4) Systems for increasing economic growth

Options :

92090621041. 1
92090621042. 2
92090621043. 3
92090621044. 4

Question Number : 61 Question Id : 9209065322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gAMAA @ YAeM IR0 # i gg FY # 9 usR $1 yonell fdefid feu @ #t
HIIRGHdl 82

(1) SHTUId Wl Ue & g Hurierdi

(2) Hifd® SMURYd giEl WaH S gq Yoo

(3)  WlaTAE-arfoe W g sifirerd Wi uerd & gq uunferat

4)  ofiffe gfg IgM gq wonferi

Options :

92090621041. 1
92090621042. 2
92090621043. 3
92090621044. 4

Question Number : 62 Question Id : 9209065323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How much of the great barrier reef in Australia estimated to have lost since 1990 due to
climate change

(1) One —third {(2) One -half
(3) Two —third {4) Three quarters
Options :

92090621045. 1
92090621046. 2
92090621047. 3
92090621048. 4

Question Number : 62 Question Id : 9209065323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIedrg URddd & R 1990 F SReferdl & He AaiufBEYy & sHifd gR fba-r g2

(1) Usfaes (2) 3T
3) <ifdes (4) F TS

Options :

92090621045. 1
92090621046. 2
92090621047. 3
92090621048. 4

Question Number : 63 Question Id : 9209065324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the impact of over exploitation of land use?

(1) Increazed Soil Erosion (2) Decreased Urban Sprawl
(3) Decreased Agriculture Production (4) Increased Land conservation
Options :

92090621049. 1
92090621050. 2
92090621051. 3
92090621052. 4



Question Number : 63 Question Id : 9209065324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YZUGRT & RIS HT T UM el 82

(1)  Hafda 7er seA (2) EdUuR # S
(3) PN I H HHl (4) ERew H gfG

Options :

92090621049. 1
92090621050. 2
92090621051. 3
92090621052. 4

Question Number : 64 Question Id : 9209065325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the purpose of international disaster response laws rules and principles 2007.

(1) To provide legal guidence for disaster response actors
(2) To establish liability for disaster response activities.
(3) To regulate the provision of financial assistance to the affected states.
(4) To promote accountability for disaster response activities
Options :

92090621053. 1
92090621054. 2
92090621055. 3
92090621056. 4

Question Number : 64 Question Id : 9209065325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SieRigra smae sgfekan fafd, fram g Rigid, 2007 &1 w1 Igwa 82

(1) 31U ffekar wifar & forg faftres fesn-Fdw uem &=
(2) MU srfear fafafi & fore Taa Ay s

(3)  wyIfad I/l # fa<diia Jeradr ddelt uaurE! &1 fafgaa
@) Sfagr srfsean nfafaferal & fere SarEde! &1 Jgrar &

Options :

92090621053. 1
92090621054. 2
92090621055. 3
92090621056. 4

Question Number : 65 Question Id : 9209065326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a recommended practice under the international health
regulations (2005) for countries to prevent the spread of disaster except emergency situations

(1) Quarantine (2) Vacination
(3) Travel restrictions (4) treatment of infected individuals
Options :

92090621057. 1
92090621058. 2
92090621059. 3
92090621060. 4

Question Number : 65 Question Id : 9209065326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%gﬁ%?anasﬁaamﬁﬂaﬁﬁmm 2q siafa Fafif@a # A #4 U SeiRid araeRr

(1) ERY (2) dIdIH
(3)  TEufadEy (4) Heplta Afaadl 1 ITAR
Options :

92090621057. 1
92090621058. 2



92090621059. 3
92090621060. 4

Question Number : 66 Question Id : 9209065327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) ; Radiological disasters involve release of radiation from non-nuclear source

Reasons (R) : Nuclear disasters involve release of radiations from nueclear source

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) 1s not correct but (R) is correct
Options :

92090621061. 1
92090621062. 2
92090621063. 3
92090621064. 4

Question Number : 66 Question Id : 9209065327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 3 FYAF AU U & T SIfUHYT (Assertion A) & U H fafEd § i g1 IHD HRUI
(Reason R) & ¥4 W

STHBPUA A - %ﬁwmmﬂﬁﬁaﬁﬁwﬁﬁﬂﬁﬂﬂ ¥ fafeeur e wfaa
|

PRUR : AT Mg AfHe g | Afveg 9d | fafesvo Fea miia g
JIWIad HYH & 3l H, A" 12U 0 [dsai 7 8 et 3T &1 904 Sifelw

(1) A SRREH THE 3R, A ] Gel A=A &

(2) ASIRRGH T™§ AfBTR, A DI 98l RSN 8l &
3) AYIE AfPIR I E

4) ASNTITEIE APIRIIS

Options :

92090621061. 1
92090621062. 2
92090621063. 3
92090621064. 4

Question Number : 67 Question Id : 9209065328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a (Given below are two statements : One iz labelled as Assertion (A) and the other iz labelled

as Reason (R).

Assgertion (A):  Disaster management Act, 2005 envisages the provision for implementing

all the disaster management activities of India.

Reasons (R) : India is the signatory of sendai framework of action 2015-30 to implement

its agenda in the country

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

{4) (A) 15 not correct but (R) is correct

Options :

92090621065. 1
92090621066. 2
92090621067. 3
92090621068. 4

Question Number : 67 Question Id : 9209065328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 31 YA f3U U § U HUHYA (Assertion A) B ®U  H fafEd § ol U IS BRUI
(Reason R) & ®Y H:

AHPYA A UG UdyA JHESFHTH 2005 # 4R H §HE 3MUcl UseH fhareanl &
forar-ag+ g WAyl W &9 fean @ g

HRUIR : HRd, Y33 hHdD 31 TRF 2015-30 I SAYH! S0 H @R A & g,
39 PI GEAER Hedl g

I HYF & 3l |, A1 iU 7 fahedl # ¥ Fel IR &1 994 Sifoe
(1)  ASIRREH T8l € SRR, A I el T\ &

(2) ARREH FEI§, ABAR, A B HEl T TS &

(3) AT AfFIRTS Tl

(4 ATGTNE APTRIE

Options :

92090621065. 1
92090621066. 2
92090621067. 3
92090621068. 4

Question Number : 68 Question Id : 9209065329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assgertion (A) : Landslides occur mainly due to unstable slopes
Reasons (R) : Slope stabilization technique can mitigate land slides

In the light of the above statements, choose the most appropriate answer from the options

given helow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) is not correct

(4) {A) iz not correct but (K) is correct

Options :



92090621069. 1
92090621070. 2
92090621071. 3
92090621072. 4

Question Number : 68 Question Id : 9209065329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e €1 Py fau MU § Ud SfUFHUA (Assertion A) B T H fafad § @l g1 39D BRI
{(Reason R}a??f_\q f-f;

IMBHYT A :  YRIGH JEIGdT HRR UauT (&) F SR e 2
HRUIR: Uqul fRURIHR -l | YFaa-] &1 I {1 o bl 8l

S $YA & 3Meiie H, A1 U 70 fabedi § 9 Ga9 IugT IR &1 94 Diforg

(1) ASRRIAITHE 3R R A DI Hel A=A &

(2) A SJRRIA TH§, dfb- R A & Hel A 8l &
(3) AYUIE AfBARGEAG

4) A3NFATE 8 AlPIRITE

Options :

92090621069. 1
92090621070. 2
92090621071. 3
92090621072. 4

Question Number : 69 Question Id : 9209065330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  The oil pollution mainly occurs owing to the shipping industry by tanker
accidents
HReasons (R): The oil pollution can be easily monitored by satellite imagery than any

other technique.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3 {(A) is correct but (R) is not correct
(4) {A) 18 not correct but (K) is correct
Options :

92090621073. 1
92090621074. 2
92090621075. 3
92090621076. 4

Question Number : 69 Question Id : 9209065330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i <1 FYA U MU § T SifHBYA (Assertion A) F FU H foRad g o @RI 39S HRUI
(Reason R) F &Y H:

HUBYAA ;I UGHY JEIGAT SEToRT! I H ¢hR gue13f & BRI gidl o

HRUIR : ad uguul &t Bl s da-iie @1 e Iude fdardel gRT Wadagds
R &1 & gl B

IS HYA & 3fald |, I {8 710 [deedi § | "l 3 &1 994 $ifow

(1) ASRRIFATTAE 3R R, A DI el TAT S

(2) ASRRTHA THE, AfBTR A B HEl AT Tl &
(3) AYUIE ABIRTAE

4) ASNTITEE APTIRITR

Options :

92090621073. 1
92090621074. 2
92090621075. 3
92090621076. 4

Question Number : 70 Question Id : 9209065331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  Disaster preparedness and disaster mitigation help in reducing the damage
and loss caused due to disasters.

Reasons (R) : response and recovery help the affected people and stop the disaster from

OCCurring again.

In the light of the ahove statements, chonse the maost appropriate answer from the options

given below :

(1)
(2)
(3)
(4)

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) 1s correct but (R) is not correct

(A) 18 not correct but (R) is correct

92090621077. 1
92090621078. 2
92090621079. 3
92090621080. 4

Question Number : 70 Question Id : 9209065331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 €1 Hy fou MU € UH SfHFHYUA (Assertion A) B ¥ H fafad & il g1 ISP BRI
(Reason R) F &Y H;

MY A :  3MUST U 9 MUl i & ruereii & SR g aral &fd g g1 &1
&H FIA H gedl fHadi 8|

HRUIR : 3 9 YasH ¥ yHIfdd il St Herdl gidl & SR 399 Sugrsdi &
GRIGR &1 AT o Febvell ¢ |

S $YH & el H, A1 U 7 fabedi § 9 9a8 IugF IR &1 94 Difow

(1) ASJRRIATIAE 3R, APl el A=A &

(2) A SIRRTHI G, AP R, A B TE TN AT &
(3) AYIE AMHIR AT

(4) ASNTITEE APIRIATR

Options :

92090621077. 1
92090621078. 2
92090621079. 3
92090621080. 4

Question Number : 71 Question Id : 9209065332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(ziven below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  The place of origin of Earthguake below the surface is called focus
Reasons (R) : The point on the surface vertically above the focus is called Epicentre of the
earthquake

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) iz not correct

(4) {A) is not correct but () is correct

Options :



92090621081. 1
92090621082. 2
92090621083. 3
92090621084. 4

Question Number : 71 Question Id : 9209065332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& €1 $u fau MU § U SMfHBYUA (Assertion A) F T H fafad & O g IS HRUI
(Reason R) F &Y ¥

APYTA :  Ydd & 1 YHU &1 IR & V[ & ey del Al g
HRUIR: HIhd A I TR W SHR Ydd fdg B Y&bd $1 3= Hel 91l g
I HYH & 3frdies #, A iU MU fabedi 7 9 998 Iugad IR &1 994 IS

(1) ASRREH UGl € 3R, A DI Hel AT &

(2) A SRRTA TSI E, AfFBA R A T el ARSI T &
(3) AUEE APTRAS TSR

(4) AUETIE ABTRILE

Options :

92090621081. 1
92090621082. 2
92090621083. 3
92090621084. 4

Question Number : 72 Question Id : 9209065333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Asgertion (A) ; The coastal erosion is severe in kerala and is more than any other state

Reasons (R) : The coastal prevented by structural measures such as sea walls.tetrapods,

and grovnes etc.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) is not correct

i(4) (A) is not correct but (R) is correct

Options :

92090621085. 1
92090621086. 2
92090621087. 3
92090621088. 4

Question Number : 72 Question Id : 9209065333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 g1 oy f3U U § TP HfHYA (Assertion A) B ®U  H fafed § @ U 3D HRU
(Reason R) F &Y H:

HUBYUT A : T &R0 FA | A § 3R fodt o Iy & |Iel gl

HRUIR : TN &R0 HI GG SAR], Cerrs] d ArhY e SEIeTd Ui gRT guiad
PT o GHd B |

JURIR HYH & 3fedle H, 9 AU 17 fabedl # 9 a8 Iugar I &1 99 Difelt

(1) ASRRIATTITE 3R R, A I Uel A=A &

(2) ASIRRGH TAE, AfBTR A DI el RS Tel &
(3) AYIE APARNEIR

(4) ASNIITE 8 ABPIRITR

Options :



92090621085. 1
92090621086. 2
92090621087. 3
92090621088. 4

Question Number : 73 Question Id : 9209065334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the step by step preventive safety measures during an earthquake

(A) Cover vour head to prevent being hit by falling obhjects
(B Stay inside
() Drop under furniture such as table or bed or anty solid furniture

(I Hold onto the object that you are under so that you remain covered

Choose the correct answer from the options given below :

(1) (C), (A), (B), (D)
(2) (B), (C), (A), (D)
(3) (A). (B), (D), (C)
(4) (D), (A), (C), (B)

Options :

92090621089. 1
92090621090. 2
92090621091. 3
92090621092. 4

Question Number : 73 Question Id : 9209065334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y& F aRA AR Y& UM &1 Uel HHHUR oafed Sifo:
A, FRAGTER a¥gsfi @ 9ic @7F ¥ 999 & fae o @1 g difor)
B. HiawfRul

C. T 3udl YaT 3Ydl 3= [l goiad B-er & -d g9 S1gu|
D. MY 5/ 3% & -1 & 34 Udha IE dlid 3MYdh SR HaR G|
A few e faseat # € wEt IR &1 984 Fifoi

(M CABD
(2) B.C,AD
(3) A B D,C
(4 DACB
Options :

92090621089. 1
92090621090. 2
92090621091. 3
92090621092. 4

Question Number : 74 Question Id : 9209065335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in hiriarchial position bhased on their position of power at executing
disaster management activities in India

(A) NDMA
(B) SDMA
() Ministry of home affairs
(D) DDMA

Choose the correct answer from the options given below :

(1) (D) (B), (4), (C)
(2) (B), (O, D), A)
(3)  (O). (A), (B), (D)
(4)  (A), (D), (C), (B)

Options :

92090621093. 1
92090621094. 2
92090621095. 3



92090621096. 4

Question Number : 74 Question Id : 9209065335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofefaa &1 Wra ® smuer ydy= fobar samdl & e § 399! ufdd & efiga & snur
R YIehiid ¥U I Faieyd i ;

A TASITAT
B. UUSITHU
C. g A
D. SISITHT
1 fau 0 fasreal # ¥ WEl IR &1 984 Fifo

(1) D,BAC
() BCDA
(3) CABD
@4 ADCB

Options :

92090621093. 1
92090621094. 2
92090621095. 3
92090621096. 4

Question Number : 75 Question Id : 9209065336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the preventive measures on priority during flood

(A) Do not walk through waterand drive in flooded areas
(B) Turn off utilities/ switch
() Listen to radios/ TV, get correct information and obhey orders of the government

(D) secure vor home move essentials to upper floor and shift to a safer place

Choose the correct answer from the options given below :

(1)  (A), (D), (B), (C)
2y  (B), (O), (&), (D)
(3)  (C), (B), (D), (A)
(4 (D), (A (C), (B)

Options :

92090621097. 1
92090621098. 2
92090621099. 3
92090621100. 4

Question Number : 75 Question Id : 9209065336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & anH Agfafad FarRe Surdl & wufiea & onuR W aafyd Sifeu:

A Od ¥ 9 dd d deu%d &1 1 argq A 9dd

B. IUdnft Harsfi gfefedte)/ Ao Fldg e &

C. &/Ardl B G, Tl Y1 UIed B d TRBRI G 1 grei b

D. U TR &I Jiad FX, A0S WHH $I FWI dd W Ugdl § 9 JRad B W 9d
Gl

4 faw v faset § § 9El IR &1 904 Fifo -

(1) AD,B,C
2y BCAD
3) CBDA
4 D,ACB

Options :
92090621097. 1



92090621098. 2
92090621099. 3
92090621100. 4

Question Number : 76 Question Id : 9209065337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the sequence of cyvclones chronologically in ascending order

(A) Cyclone 'FANT of 2019

(B Cyclone YAAS' of 2021

() Cyeclone ‘ASANT of 2022
(D) Cyclone 'AMPHAN' of 2020

Choose the correct answer from the options given below :

(1) (D), (A), (C), (B)
(2) (A), (D), (B), (C)
(3 (B, (0), (4), D)
(4) (C), (B). (D), (A)
Options :
92090621101. 1
92090621102. 2
92090621103. 3
92090621104. 4

Question Number : 76 Question Id : 9209065337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad awardl $1 3% SHIebHTaR RIS H 7H @I -
A. 2019 &1 IehdTd BT (FANI)

B. 2021 o1 Iehdld UM’ (YAAS)

C. 2022 %1 Hehdld '3l (ASANI)

D. 2020 &1 Thdld '3FET (AMPHAN)

it faw 71e faspeul # @ |el 3T’ &1 904 Sifee -

(1) D,ACB
(2) A DBC
(3) B.CAD

(4) D,B DA

Options :

92090621101. 1
92090621102. 2
92090621103. 3
92090621104. 4

Question Number : 77 Question Id : 9209065338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which are the fragile ecosystem?

(A) Desert

(B) Ocean

(C) Wetlands
(D) Small Island

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D)

(2) (B). (C)

(3) (A), (C), (D)

(4) (D)
Options :

92090621105. 1
92090621106. 2
92090621107. 3
92090621108. 4



Question Number : 77 Question Id : 9209065338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 4 B -3 WIR Ghoge) TR 3 82
A TERE

B. WENIR
C. oM y#A
D. ®Blcgd
1= fau U faseel # 9 Wel IR &1 904 SHife -

(1) A B CD
(2} B, C

(3) ACD
(4 D

Options :

92090621105. 1
92090621106. 2
92090621107. 3
92090621108. 4

Question Number : 78 Question Id : 9209065339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The reason for Ecosystem vulnerabihity are:

(A) Deforestation
(B) Urbanisation
() Climate change
(D) Pollution

Choose the correct answer from the options given below :
(1) (A), (C)

2 (©

(3) (B), (C), (D)

(4) (A), (B), (C), (D)

Options :

92090621109. 1
92090621110. 2
92090621111. 3
92090621112. 4

Question Number : 78 Question Id : 9209065339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uitfufeet da Vel & HH-$1H ¥ HRU &2
A AddiE

B. NG
C. Gddrg uRdadd

D. UgHU
e fau 7T fasedi @ | 98t IR &1 9894 Difee ;

(1) A, C

(2) 2

(3) B,.C.D
(4) ABCD

Options :
92090621109. 1
92090621110. 2



92090621111. 3
92090621112. 4

Question Number : 79 Question Id : 9209065340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major carbon sinks are

(A) EXOSPHERE
(B) LITHOSPHERE
(C) BIOSPHERE
(D) ATMOSHERE

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D)
2 (B0, D
(3) (C), (B), (D)
(4) (D), (B), (C)

Options :

92090621113. 1
92090621114. 2
92090621115.3
92090621116. 4

Question Number : 79 Question Id : 9209065340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A digHsd
B. W®EHSA
C. CigHsd

D. dlgHSd
42 fau v faedi & | 9l IR &1 954 Fifeie

(1 A B CD
(2) B, C.D
(3) ED
(4) D B C

Options :

92090621113. 1
92090621114. 2
92090621115. 3
92090621116. 4

Question Number : 80 Question Id : 9209065341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  The basic responsibility in india to undertake resue, relief and
rehabilitation measures in event of a natural disaster lies with state

gov't.

Statement [1 : In the event of disaster union govt provides only supportive role in

termof physical and financial resource to state govt's.

In the light of the above statements, choose the correct answer from the options given below ;

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but Statement 11 is folsce
(4) Statement I is false but Statement I1 is true

Options :

92090621117. 1
92090621118. 2
92090621119. 3
92090621120. 4

Question Number : 80 Question Id : 9209065341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR HYIRUME
®YF | . HRa J & wipfae suer & gfed g9 W 949, Agd 9 gAaTy et 3urg &

& g IR I59 WHR H1 erdl g

FYT I MU B fRUfd # T WHR & Hifde 9 fadi dureA Iudasl & | I

WPHR B had HFTSHRT Yt gidt 2|

IUiad HYA & fdld H, A EU 71U [dbedi § € "t 3T &1 994 Sifelw

(1)
(2)
(3)
(4)

HYF | 3R 1 I T &

HYF | 3R 1 ST ST &

HYF | A B, Afch HYF 11 3FT 8
HY | A g, AP FYT 1 T 8

Options :

92090621117. 1
92090621118. 2
92090621119. 3
92090621120. 4

Question Number : 81 Question Id : 9209065342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  Disaster risk reduction is only effective if it is intergrated into broad

development planning.

Statement I :  Disaster risk reduction solely focus on physical and environment aspects

of disasters

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement 1T are false
(3 Statement [ is true but Statement 11 is false
(4) Statement [ is false but Statement I1 is true

Options :

92090621121. 1
92090621122. 2
92090621123.3
92090621124. 4

Question Number : 81 Question Id : 9209065342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS FERUmE:

HUYA| @mmmmmm%maﬁﬁm gIe1 & 91y Udbldd
fFar gl

HUF I : Tﬁf@uwmuﬂwﬁamﬁ%%amﬁﬂuu&ﬁmm
|

IR HYA & 3fdld |, A1 S0 710 [decdl #§ 9 9t I 904 Sivie

(1) USRI aH ue &
(2) YA SR 11 AT T §
(3) ®YTI Sl 8, Al B 11 Tad &
(4) Y| T B, Wik HYE 1| UEl §

Options :

92090621121. 1
92090621122. 2
92090621123. 3
92090621124. 4

Question Number : 82 Question Id : 9209065343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements :

Statement I :  Those areas where annual occurence of floods is approximately 1% are

called as high risk areas.

Statement 1 : Low risk areas are those where annual owerance of flood is

approximately 25%.

In the light of the above statements, choose the correct answer from the options given helow :

(1) Bnth Statement T and Statement [T are true

(2) Both Statement I and Statement I are false

(3 Statement [ is true but Statement 11 is false
(4) Statement I is false but Statement II is true
Options :

92090621125. 1
92090621126. 2
92090621127. 3
92090621128. 4

Question Number : 82 Question Id : 9209065343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BYT| . WTHI 1% dIfte a1 9fed g1 a1d & &1 I STy & gl SIdl g
&Y 1. e ofEw &3 3 &3 81 § 81 a1 33 &1 a1ftfd & a1 25% gidi 21
IR HYA & 3eireh H, [l 4T 0 fab el # 4 Ugl Il 90 Sifey

(1) HYFIAR IS I8
(2)  HYFI R I SFT 3T &
(3) YT HA g, Al HYA 11 I E
(4) YT HET g, Ab HUA I I B

Options :
92090621125. 1



92090621126. 2
92090621127. 3
92090621128. 4

Question Number : 83 Question Id : 9209065344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Chemical, Biological, Radiological and Nuclear (CBEN) disaster are rare

and unlikely to our.,

Statement 11 : A Chemical, Biological. radiological and nuclear disaster have serious

impact on human health and environment.

In the light of the above statements, choose the correct answer from the options given helow :

(1) Both Statement I and Statement [1 are true

(2) Both Statement I and Statement [ are false

(3) Statement [ is true but Statement 11 is false
(1) Statement [ is false but Statement I is true
Options :

92090621129. 1
92090621130. 2
92090621131. 3
92090621132. 4

Question Number : 83 Question Id : 9209065344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS e mE:

Y| . WEAE, Sfde, A wff 3 ity @ §t 3R TA) smuens suare € SR 39%
gfed g & UG el & RIa ¢

PUYF 1. WA, wfde, A ol g Afiea smuers &1 AFdg Wy 9 ggiaen w)
TR g4 gaT g

JWRIFd DY & 3clld |, HId S0 770 [dwedl & | el 3 &1 994 $ifeig

(1)  FYTI RIS TIE

(2) HYFI SR ISH 3 EA &

(3) FYTIHAE, Ui HYF 1 I &
(4) HYF | ATH g, AT YA TA &

Options :

92090621129. 1
92090621130. 2
92090621131. 3
92090621132. 4

Question Number : 84 Question Id : 9209065345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Relief and rehabilitation are important and intergral components of

disaster recovery.
Statement I1 :  Relief and rehabilitation efforts should only be provided by state and
union govt's.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement [ are incorrect
(3) Statement [ is true but Statement Il is incorrect

{4) Statement [ is false but Statement I1 is correct



Options :

92090621133. 1
92090621134. 2
92090621135. 3
92090621136. 4

Question Number : 84 Question Id : 9209065345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUF| :  Agd d YA IS B $ Aoyl 9 v o1 g
®YF Il :  gd d AT U HIF U9l d d5 SPR gRI 8l [t o =iz
JWRI By & 3Teile H, i 4T MU fahedl # 4 el I &1 90 Sifely

(1) Y1 3R 1 AT gl §
(2)  ®YA| SR I SHI Ted 8
(3) DY FEl g, dihd YA 11 TeAd ©
(4) ®YFITTAd 8, Afchd YA 1| H8l &

Options :

92090621133. 1
92090621134. 2
92090621135. 3
92090621136. 4

Question Number : 85 Question Id : 9209065346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  Artificial intelligence is still in its experimental stage and not ready for

practical applications.

Statement I1 : Artificial intelligence can help in early warning of disaster and provide

real time disaster management solutions.

In the light of the above statements, choozse the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement [l are incorrect

(3) Statement I is true but Statement I is incorrect

i(4) Statement [ is false but Statement I1 is correct
Options :

92090621137. 1
92090621138. 2
92090621139. 3
92090621140. 4

Question Number : 85 Question Id : 9209065346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FHuARUmE
HUA| ﬁng@&rﬁmmﬁrﬁamﬁéﬁ%aﬁwﬁwm ST & ferg

Y. HET §fG SMYSISH DI gd (3fch) Fdia-t H Heg B bl ¢ AR diefiid el
W& AT USH bl |

IR $Y9 & 3eile H, 1 AU 70 fasedi § 9 968 Iugdd Ik &1 944 Difog

(1) B RN TR
(2) YA SR 1 S Tad @
(3) U1 FE B, Alibd YA 11 Ted B
(4) YA TTAd 8, dichd HYA 11 98l &

Options :



92090621137. 1
92090621138. 2
92090621139. 3
92090621140. 4

Question Number : 86 Question Id : 9209065347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Physical support in the after math of a disaster is not an important

component of disaster response.

Statement 11 :  Trauma and stress management is only necessary for disaster survivors

who have experienced physical injuries.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is true but Statement 11 is incorrect
i(4) Statement [ is false but Statement I1 is correct

Options :

92090621141. 1
92090621142. 2
92090621143. 3
92090621144. 4

Question Number : 86 Question Id : 9209065347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=
Y |
HYA I

dYT UM E:
. SIS 9YTd WA Heg 3TUET SFfHal H1 Heaqyl 4ed el o

. UYId d 3619 () UeEH 3Uel & bad 34 Javailiadl & oY sawas g o
QRIRE A1 o it 8|

SWRIF HYA & 3fcile H, g iU 1 fabedi § 9 998 Iuged It 1 994 HIfog

(1)
(2)
(3)
(4)

HYF | AR 11 I TS T
HUF | 3R 1| Ff TTIAd &
HYF | TEl €, e HYF 1| TTad &
BYF | 700 8, Qi HU 1| TE B

Options :

92090621141. 1
92090621142. 2
92090621143. 3
92090621144. 4

Question
Question

Number : 87 Question Id : 9209065348 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following sustainible development goals focus on disaster risk reduction

(A) Goal-1
(B) Goal-2
(0 Goal-13
(I Goal-11
(E) (Goal-8

Choose

the correct answer from the options given below :

(1) (A), (B), (E) only
(2) (B), (E), (D) only
(3) (A), (B), (C) only
{4) (E) and (B) only

Options :
92090621
92090621
92090621
92090621

145. 1
146. 2
147.3
148. 4



Question Number : 87 Question Id : 9209065348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & @ f5-f Tad [9em dedi &1 By 39l S TgHvl )R 87
@& 1

>

B. W&2
C. W&h13
D. &1
E d&s8
1= fau T fashedl § 9§ Wl 3R &1 994 Sife -

(1) dd A, B E
(2) ddB, ESRD
(3) &ddABCD
(4) &dd E3NB

Options :

92090621145. 1
92090621146. 2
92090621147. 3
92090621148. 4

Question Number : 88 Question Id : 9209065349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is true about NIDM.

(A) NIDM prepers national disaster management plan.
(B) NIDM makes rules and policies related to disaster manangement
(C) NIDM is mainly responsible for capeity building in disaster management

(D) NIDM prepares study material for various courses on disaster management.

Choose the correct answer from the options given below :
(1) (A) and (C) only

(2) (C) and (D) only

(3) (A) and (B) only

(4) (A), (B), (C), (D) only

Options :

92090621149. 1
92090621150. 2
92090621151. 3
92090621152. 4

Question Number : 88 Question Id : 9209065349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH 315 31 UA & ey | e F 9 o/ 9al 82

A TF 3M1S ST UH AP 3MUST Uy ISl R S g

B. UA 31$ 310X 3Muel Yy ¥ Yaifda Faw g Hifagl s9rdi 21

C. T3S S un 39S ueyH F gE: e i & fo SRerd 81

D. UA 35 81 UH 3Yel e Haei fafirs qrdasmal & fo1g sieggd ansll dar &l g
e fou 7Y fashedl # 9 Wl IR Pl T8 S -

(1) FAAASRC
(2) HIACIRD
(3) FAAA B

(4) &dd A B,C,D

Options :
92090621149. 1
92090621150. 2



92090621151. 3
92090621152. 4

Question Number : 89 Question Id : 9209065350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is example of non- structural mitigation measure for disaster risk
reduction.

(A) Building sea walls

(B) Retrofitting buildings

() Risk reduction policies

(D) Land use managment

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (C) and (D) only
(3) (B) and (C) only
() (A), (B), (C).and (D)only

Options :

92090621153. 1
92090621154. 2
92090621155. 3
92090621156. 4

Question Number : 89 Question Id : 9209065350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3MUeT SIfEH YRl & Hae 7 g & § BH-3H TR-TRTeTS U SURT & IS8 87
A. Gl dlari &1 fAmf

B. MdHl &I FFUIGR (XSIftsic)

c. wifan agsviy g

D. YIUIN UeyH
19 fau U fadetl # ¥ HEl 3R &1 99 Hifee -
(1) HIdASRB
2) HIACIRD
(3) FAABIARC

(4 AB,C3RD

Options :

92090621153. 1
92090621154. 2
92090621155. 3
92090621156. 4

Question Number : 90 Question Id : 9209065351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is on example of post disaster response measure.

(A) develope evacuation plans

(B Conducting disaster drills

(C) providing emergency sheltre

(I providing specific aid to maintain life and health

(E) mapping vulnrable areas.

Choose the correct answer from the options given below :

(1) (A), (B), (C), (E). (D) only
(2) (A) and (B) only
(3 (C) and (D) only
(4) (A) and (E) only

Options :
92090621157. 1



92090621158. 2
92090621159. 3
92090621160. 4

Question Number : 90 Question Id : 9209065351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFroffad # A S-$1F uer-uyd sHfpaT Iurdl % IS &7
A. NI ] g (SAFURA) DI A 1

B.  SUGT ¥R HIH

C. SfMUTd 313 UgH @Al

D. ©ile 9 TRy §1U 18- & forg fafry gerdn var &1
E. 3R&d &3 &1 AFfEAST S

A fau 7o fasedl # ¥ WEl IR &1 98 ST

(1) A B CD E

(2) FAAA 3B

(3) ®HFACSIRD

4) HAAANRE
Options :

92090621157. 1
92090621158. 2
92090621159. 3
92090621160. 4

Question Number : 91 Question Id : 9209065352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is incorrect about Build Back Better (BBB) principle

(A) Rebuilding to pre-disaster normal
(B) Integrating disaster risk reduction into developmental measures.
() To build more sustainible safe and resilient community

(I To assese the impact of disaster on built environment.

Choose the correct answer from the options given below :
(1) (B) and (C) only

(2) (A), (B), (C), (D) only

(3 (A) and (D) only

(4) (B). (C), (D) only

Options :

92090621161. 1
92090621162. 2
92090621163. 3
92090621164. 4

Question Number : 91 Question Id : 9209065352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fite 9% §ex (@MUY Sea) Fmi) Rigia & ddy & o & 3 s ad a8 82
A.  SUEI gd & HIHRG TR H1 GAHHT]

B. 3HIUSI GIRAH THHRU Bl [T Wb UMl & WY UDbidhd HAl

C. ¥ GURUIY, JRIET 9 dreEsiia SHerE &1 Aaf

D. Affd ufaw w simuer g &1 sireaA

1 feu o faeedi § 9§ 9el IR &1 994 Bifer -

(1) FaaB3ARC
(2) PadA B C3RD
(3) PHAAA3RD

(4) HdAB, CD3IRE

Options :

92090621161. 1
92090621162. 2
92090621163. 3



92090621164. 4

Question Number : 92 Question Id : 9209065353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct about effect of climate change on coastal area

(A) Reduced oxygen levels

(B) Inereased coastal flooding and erosion
(C) increased coral growth.,
(I sea level rise

Choose the correct answer from the options given below :

(1) (B) and (D) only
(2) (A) and (C) only
(3) (B) and (A) only
(4) (A) (B), (C), (D) only

Options :

92090621165. 1
92090621166. 2
92090621167. 3
92090621168. 4

Question Number : 92 Question Id : 9209065353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I &4 R Searg URad & UHd & ddy o g 0 9 - uel 82
A, SIS &1 YT TR

B. dcadi &= § Haftld arg 9 &xu

c. wafda gm fas™

D. WEwRHATGE

12 fau o fasedl # & el IR &1 904 Diforg ;

(1) aaABARD
(2) FAAAIRC
(3) HAABIARA
(4) HdAA, B C D

Options :

92090621165. 1
92090621166. 2
92090621167. 3
92090621168. 4

Question Number : 93 Question Id : 9209065354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct about physical rehabilitation

(A) Relocation

(B) Physical rehabilitation of infrastructure
(C) Rehabilitation of women, eldely and child
(D) Psyvchological rehabilitation

Choose the correct answer from the options given below :

(1) (A), (B). (C). (D) only
(2) (A), (B), (D) only
(3) (A), (B), (C) only
(1) (B). (C). (D) only

Options :

920906211609. 1
92090621170. 2
92090621171. 3
92090621172. 4



Question Number : 93 Question Id : 9209065354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hifties YAata & ddy § g # @ 19 514 1el 82
A UTIEA
B. SURYd TR H1 Hifdd gatg
C. Higasfi, g&i d s &1 gAad

D. WIS gFafy

1 fau v fasreal # € WEl IR 61 984 Fifoil
(1) ddA,BCD

(2) &ddA B D

(3) FddA,B,C

(4) HadB,CD

Options :

92090621169. 1
92090621170. 2
92090621171. 3
92090621172. 4

Question Number : 94 Question Id : 9209065355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech List I with List 11 :

List I List IT
(A) Geophysical Hazard (I} Epidemics
(B) Metereological Hazard (II) Landslides
(C) Climatological Hazard (IIT) Cyclones
(D) Biological Hazard (IV) Drought

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(I1I), (C)-(1IV), (D)-(1I)
(2) (A)-(D), (B)-(II), (C)-(IV), (D)-(11I)
(3) (A)-(ID), (B)-(IV), (C)-(I1L), (D)-(D)
(1) (A)-(1I), (B)-(L1I), (C)-(IV). (D)-(I)

Options :

92090621173. 1
92090621174. 2
92090621175. 3
92090621176. 4

Question Number : 94 Question Id : 9209065355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & |y = 11 B A S

- -l
(A) Y-MIfde dabe () e
(B) HIgH Hah Hhe R GERE|
(C) Sicdrg Hedt Hahe () Tehdrd
D) ©ifds dHe (Iv) g@r

2 feu Tt fasedi # 9 9l IR 1 94 DifoIT:

(1 (A=), (B)-(), (C)-(IV), (D)-(1N)
(2) (A=), (B)-(I), (C)-(V), (D)-(1)
(3) (A=), (B)-(IV), (O)-(I), (D)-(1)
(4) (A1), (B)-(n), (C)-(1v), (D)-(1)

Options :
92090621173. 1



92090621174. 2
92090621175. 3
92090621176. 4

Question Number : 95 Question Id : 9209065356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Matceh List T with List 1T :

List I List IT
{A) Chennai Flood (I 2014
(B) Mumbai Flood (I) 2018
(Cy Uttrakhand Flood (I1I) 2015
(D)  Kasmir Flood (IVy 2005

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(ID), (C)-(111), (D)-(T)
(2)  (A)-ID, (B-(ID), (C)-(IV), (D)-(T)
(3)  (A)-(IV), (B)-(D), (C)-(ID), (D)-(II)
(49)  (A)-(IID, (B)-(IV), (C)-(T), (D)-(T)

Options :

92090621177. 1
92090621178. 2
92090621179. 3
92090621180. 4

Question Number : 95 Question Id : 9209065356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & 91 g 1| B e S

- -l
EEECI[ ) 2014
Hes alg Iy 2018
(€ JREs dlg (y 2015
(D) PR G (IV) 2005

42 feu e fasrei & 9 Il IR #1994 ifr;

(1) (A)-(V), (B)-(11), (©)-(), (D)-(1)
(2) (A, (B)-(1), (O)-(1V), (D)-()

(3)  (A)-(V), (B)-(1), (C)-(l), (D)-(I1)
(4) (A=), (B)-(V), (Q)-(). (D)-(1)

Options :

92090621177. 1
92090621178. 2
92090621179. 3
92090621180. 4

Question Number : 96 Question Id : 9209065357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II :

List I List IT
(A) Tempere convention (I) Climate change
(B) Paris Agreement (I) Public health response
(C) Sanitary Regulations (IIT) Disaster risk reduction
(D) Sendai framework (IV) Telecommunication

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(1ID), (C)-(111I), (D)-(I)
(2) (A)-(I1D), (B)-(IV), (CI-EIL (D)-(1I)
(3) (A)-(IV), (B)-(I), (C)-(IT), (D)-(11I)
(4) (A)-(IT), (B)-(D), (C)-(IV), (D)-(11L)

Options :
92090621181. 1
92090621182. 2



92090621183. 3
92090621184. 4

Question Number : 96 Question Id : 9209065357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y g 11 @ e S

- gt -l
(A) CUIR H=aTA () S@aryg uiadd
(B) URY FHIha (i) <P @Ry bl
(€) ¥dwsdl fafas (1) 3HTSIET SIREH TLDHRI
(D) Wss hHadh (V) WHEAR
=i fou U fashedl # 9 Wl IR &1 997 HIIT:
(1) (A)-(IV), (B)-(11), (O)-(l1), (D)-(1)

)-(
(2)  (A)-(), (B)-(IV), (O)-(1). (D)-(1)
(3)  (A)-(V), (B)-(1), (C)-(I1), (D)-(INT)
(4) (A1), B)-(1), (O-(1V), (D)-(I1D)

Options :

92090621181. 1
92090621182. 2
92090621183. 3
92090621184. 4

Question Number : 97 Question Id : 9209065358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List IT
(A) GIS () Wildfires
(B Thermal (I) Topography
(C) Multispectral Imagery (IIT) Flood hazard Zonation
M  TIDAR (TV) Coastal erosinn

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(10), (C)-(D), (D)-(I1I)
2 (A0, (B)-(IV), (C)-(11I), (D)-(I1)
(3 (A, (B)-(D), (C)-(II), (D)-(IV}
(4) (A1), (B)-(I), (C)-(IV), (D)-(1I)

Options :

92090621185. 1
92090621186. 2
92090621187. 3
92090621188. 4

Question Number : 97 Question Id : 9209065358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y g || B e S

-1 =t i
(A) it 3 T () SEEd
(B) Y& () TdrHd
(C) g WaeH Bl () «1¢ Ybhe &HAIH
(D) Td 315 31 TR (v) T eror

1 feu v fasedi # 9 9El IO &1 984 Difele:

(1) (A)-(IV), (B)-(I1), (C)-(1), (D)-(I)
(2) (A, (B)-(IV), (O)-(1m), (D)-(IN)
(3) (A=), (B)-(I), (C)-(), (D)-(IV)
(4) (A=), (B)-(I), (C)-(IV), (D)-(I)

Options :
92090621185. 1
92090621186. 2



92090621187. 3
92090621188. 4

Question Number : 98 Question Id : 9209065359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I List IT
{A) Kedernath landslide (I) 1998
(B) Gowhati landslide (IT) 1968
(C) Darjaleeng landslide (I1I) 1948
(D) Malpa landslide (IVy 2013

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(1), (C)-(IT), (D)-(I)
(2) (A)-(I), (B)-(II), (C)-(11D), (D)-(IV)
(3) (A)-(IT), (B)-(1), (C)-(IV), (D)-(11II)
(4) (A)-(IID), (B)-(IV), (C)-(1), (D)-(1I)

Options :

92090621189. 1
92090621190. 2
92090621191. 3
92090621192. 4

Question Number : 98 Question Id : 9209065359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & Ty g 11 B AeE S

-1 I
(A) BERATY YFEAA () 1998
(8) TdIgc! YEaa Iy 1868
(€ eIl y=aaA () 1948
(D) HI YFEa (V) 2013

4 fau 77U fasedi # | 9l IR &1 994 Difre:

(1) (A)-(V), (B)-(1l1), (C)-(IN), (D)-(I)
(2) (A1), B)-(1N, (O)-(1), (D)-(IV)
(3) (A=), (B)-(1), (O)-(1V). (D)-(lN)
(4) (A0, (B)-(IV), (©)-(1). (D)-(IN)

Options :

92090621189. 1
92090621190. 2
92090621191. 3
92090621192. 4

Question Number : 99 Question Id : 9209065360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT:

List I List II
{(A) Nuclear disaster (I Covid-19
(BY Chemical disaster (II) Bhopal disaster
(C) Biological disaster (III) Savar disaster
(D) industrial disaster (IV) chernobyl disaster

Choose the correct answer from the options given below :

(1) (A)-(II), (B)-(I), (C)-(11D), (D)-(IV)
(2) (A)-(D), (B)-(I1I), (C)-(1I), (D)-(IV)
(3) (A)-(IV). (B)-(I1), (C)-(I). (D)-(I1I)
(1) (A)-(IIT), (B)-(II), (C)-(D), (D)-(IV)

Options :
92090621193. 1



92090621194. 2
92090621195. 3
92090621196. 4

Question Number : 99 Question Id : 9209065360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y g 11 B e B

gl gt -
(a) AIfYEE el () HIds-19
(B) IMHMME 3MTUal (I MO 3Mgel
(C) wifad smuar (1) FTER TSl
(D) STERIE 3magr (v) =Hiaa e

2 fau v fasedi 9 981 IR 1 9G4 DI

(1 (A=), B)-(1), (C)-(1), (D)-(IV)
(2)  (A)-(), (B)-(I), (C)-(I), (D)-(IV)
(3)  (A)-(V), (B)-(1), (C)-(1). (D)-(111)
(4) (A=), (B)-(In, (Q-), (D)-(V)

Options :

92090621193. 1
92090621194. 2
92090621195. 3
92090621196. 4

Question Number : 100 Question Id : 9209065361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T :

List I List IT
(A) LIDAR (I)  Topography
(By INSAR (I) Cyclones
(Cy DEM-SETM (I} Ground deformation
(D) INSAT (IV) Forest areas

Choose the correct answer from the options given below:

(1) (A)-(IID), (B)-(ID), (C)-(IV), (D)-(T)
(2) (A)-(ID), (B)-(D), (C)-(I1D), (D)-(IV)
(3) (A)-(IV), (B)-(11L), (C)-(T), (D)-(1T)
(4) (A)-(D), (B)-(IV), (C)-(11I), (D)-(II)

Options :

92090621197. 1
92090621198. 2
92090621199. 3
92090621200. 4

Question Number : 100 Question Id : 9209065361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & 1Y G 11 B e Sifee

-1 Tt -
(A) T3 ST IR () TP
(B) M TATHT 3R () =shard
(© SITTH-THARATH (I - faEyor
(D) METATHTUH G (V) a8

1= feu 7o fawedi § 9§ 9l I &1 944 DIIg:

(1) (A=), (B)-(), (C)-(IV), (D)-(1)
(2) (A=), (B)-(1). (C)-(1), (D)-(IV)
(3) (A=), (B)-(11), (O)-(1). (D)-(IN)
4) (A=), (B)-(V), (O)-(m), (D)-(1N)

Options :
92090621197. 1
92090621198. 2



92090621199. 3
92090621200. 4



